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FEW BASIC TERM AND CONCEPTS ABOUT
DISCOUNT
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FORMULA AND ITS CONCEPT
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et 1 free) Find discount percentage.

ECIG 1 T 9] e UfsTa 1 i
m.P. = LT A.20%
2o 30 B.30%
l € 25%
D“/O; 1 Xlos | D.33.33%

E. None of these
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e
Question 2- Three successive discount ar¢ 10%, 20°

and(25%,) Find the single equal discount percent.

T 2- i SHHTTT BE 10%, 20% AN 25% & Tehel HHH
W ST T shifsTa

D ) | VA 46%
/ﬁl&ﬂs—%ﬂx% B. 55%
3090 C.45%
= 53— %’“ }f’ D.60%

= Lrgz E. None of these
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pa\ct
M Question 3- Ajay marked the prlce of an article , 60% above the cost

@D / %04y price and sold the product for R, 2560 by giving two successive
O

ﬂscount of 20% each. Find the cost price of the product.
O 3. s Ueh S o1 Hod 569 Hod § 60% 3ATereh Jfehd fordm {1

= 56, SR ol 20% shi &1 SHATTTA BE S5 25600 T H s fT| IcUTE 3 53

D e T 1]
P) M <2560 | CP= 007 30 ﬁz 4212888
I =346 [6o7= 4 |
e, G = Howo C.Rs 65000

E. None of these

e X0
0¥ < 3 loge, \ \Oo% ~ HeSer (00 D.Rs 75000
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p Question 4- A marked his radio at 25% above the C.P and gave

customefs 12% discount on cash payment. In this way he gained Rs.

\’%’ 0// )f) 110. Find the cost price of radio
J TH4- A IO ST T HT HT § 25% FT 3fohel fohAT ST ATEhT
W VI OX 12% 3h1 ©2 a1l §8 TehR 38 110 T skl AT g1 AT b
Sl o Tl 2hi ST
@ CP SP MNP 2= ([0 Re. 30 A.Rs 1000
75 \Q) = 55, B.Rs 1200
. S (P20~ | C.Rs 1300
LL’( 2 49 = QK0 D.Rs 1400
i K/ 23 =X (9 '
e “E None of these
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E. None of these
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Question 5- Cost price and marked price of an article 1s 1n ratio 4:5.
After allowing a discount of Rs. 50, ratio between marked price and
selling price 1s 10:9. Find the ratio of profit percent wit@aud
without discount.

T 5- eh & shl 5 Hod ST 3fohd Ao 4:5 o UG H 21 50 793 I

B & oh STe, Jifehd Ao IR {oIhd o oh sfit= o1 ST{ATT 10:9 €. B

| I o {1 ATH AT oAl AT o jﬁlﬁl
SP MP (P=50x8s Hog ‘E = 90 39%
=Ja %@: ’“ b
5 Sf: IXs0= HSQX? \ =7 HQ@X(QO
j[}SI)Q Mo loxso= 5\09 :%
Q

m ¥k B "m
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/% Question 6- The difference between successive discount f 20°
‘7( followed by(25% and 20% followed by 30% on the marked price of

10
\)\63 /(g an article 1s Rs. 23. Find the marked price of the article.
7wk T 6- Ueh (o Jifehd HT T 10% ! SHATTA BE o sI1E 25% N 20%
2 I BE ST IHeh ATE 30% hl D o sfl AT ST 23 T & TE] AT Hohd
I GRE di"él'q' A.Rs 300
/ —
O D | DL /, = i:_ 30 B.Rs 400
8 = C.Rs 200
Lfo/c iy, )Oo°/o: 23 }?lS@’ S
L) /T‘-/ o D.Rs 100
L‘IVO:Z?) P} = 515 Q —£ENone of these




SBI CLERK 2023 (3TIIR o )

Question 7- A person 1s selling an article at a discount of 10% on the

@ marked price. The marked price 1s 20% above the cost price and the

\ article 1s sold for R What 1s the cost price?
0 Sy TAT-TH S Tch Teh & ohi Hfohd Hed TX 10% hl D¢ W o< T & 3ifohd

e 63 0o § 20% 34k & ST SR sl 45900 T H ST STl 81 1T

@ HT T 57 V=3 H590¢ A.Rs 32500
¢ P M P | I=XlITagg B.Rs 52500
(0»/{;@ j ‘Q CP)\S [To0x 25 C.Rs 62500
o e - C _ W{SOO@S CRs 42500
MFK - > ENone of these
4 o
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Question 8- When a discount @) 1s given on an article, the profit 1s
25%. If the discount ', then the profit 1s

HATCT 8- STl Teh I T 20% 3h1 B & ST &, Al TTH 25% BIa 2l A B
20% &, T AT T &2

A.16%
30 B. 15%
C.25%
D.30%’
“E-None of these
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Question 9- The marked price of a table and chair are 1n the ratio 1 : 2.

0
?)Q@ "\/%/ The shopkeeper gives 40 % discount on the table. If the total discount
\Qq on the table and chair @, the discount offered on the chair 1s?

1\O T 9- Teh UST ST T ot 3ok A& 1: 2 o AT H 8] GHHGR U T
< 40% B 2T &) Al 1T TR FHHT T Hed BE 30% =, A FHeT T &l S o7

B T 27
@ T 0 C D/ 8l A.20%
T °?<9/ 30 B. 40%
100" 200 :257 C.35%
oy >D=So - D.55%
KgP\> 6 O | SO, ‘“E” None of these
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Question 10- How much percent above the cost price should a Ajay

mark his goods so as to earn a profit of 32% after allowing a discount

of 12% on the marked price?
T 10- Jifehd 7 T 12% ht D & o SI1E 32% T AW ST L o [T

3T ! G WIS UL 3h3 Hed © fehd fererd 3tfersh Jifehd s =miee?

PSP np |, ) A.5%
3{%: @_ 25 7% %3 —%gg §° B. 55%
Ry \ , _ 507 LC50%
R 0\ ¥ 23 S 2 D.25%
/61“?_5“ 20 T\%\) il E. None of these
| NE_
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Question 11- Ajay buys an article marked at& 25,000)with 20 % and
) 5% discount . He spends 1,000 for its repair and sells 1t for ¥ 24,000
7;’40+5_Qf2x5what 1s his gain or loss percent?
0) e\ N
3 T 11- 3151 £25,000 3HAeRd Teh TE 2l 20% SR 5% D o A1 G 2
A I8 3Hch! A oh TTT 1,000 T= ol § 3T 38 T 24,000 H J<@T 8, )
IERT AT T BT JRTd T &2
A.40%

(P= %% ‘gj%ooo §F=RMooo 34 B. 50%
- HOOOP% P%:' M}(\O@ C.30%

Ack i D.60%
C ((X (]D: 2006 - %i —E. None of these
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Question 12- A shopkeeper promises to sell his good on marked price

but he use 200 gram less weight and also allows a discount of 10%.

Find his profit and loss percent.
T 12- Teh GHMER ST e ! Ffehd Hed YL s= T ATET HLAT & A foh

I8 200 UTH ¥ SIST skl STANT LT @ ST 10% ol B I ST 81 IEehT A
3 I wferera 3 SHifsR

@ |OQO o A.10%
?ﬂog(ﬂ’) 30 B.20%
(P> Qoo L€ 12.5%
, =10 PZ: (% Klo6= 357  D.11.11%
% —— E. None of these
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@\ \©0%
Question 13- A dealer buys a chair listed nd gets successive

discounts of 20% and 10%. He spends ¥ 40 on transportation and sells at
), 7 =e(0+0 _Q"Xc{%roﬁt of 20%. Find the selling price of the table
% o1 13- W ST 3000 geiielg, Ueh bl TRIadT & S IH 20% 3 10%

=41, I shitren @dﬁﬂ?ﬁla‘s'qﬁa%?qt%m T AT & 3T 20% o AT T
oIl 21 3T o1 foshd W STd shifstd A Rs 2400
& (p oo Foog (e (QO‘/%‘}QQ@Q} B.Rs 2420
=336, _ C.Rs 2620
t/’ldqd ‘10’@&_ D.Rs 3260
(PT— “2(60+L(Q — _ENone of these
= 210@@9
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Question 14- A person paid ¥ 24,000 for a car after a single discount of

ﬂ 5 %. If he 1s given successive discounts then how
(7
6 0 /\3\6 much he would pay

® -~ ~ ~

> T 14- Th Al 7 15% hl Tehel BE o sI1E Teh hIL o T 24,000 T
497 ITATH el Fie 36 5% 3 10% hi SHANTT D &1 STl & d1 g fohelHl
AT T2

e A.Rs 240

D, = 5, P8:(H{S%%E%%¢qd B.Rs 230
Dl e TDLH: 05y = 145 x4 C.Rs 120

D.Rs 100
EANone of these
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Question 15- What price should a shopkeeper mark on an
article costing hiain 35% after allowing a
discount of 25%.

T 15- Teh hME sl 800 I Al & T 25% 1 H & %

@ ST 35% T AT STH 3l oh (7T T Hed 3 fohel AT =Tiew?
s, NN P MP= 36x 40 A.Rs 1240
/:it- 091 - 7(80) B Rs 1440
%Qﬁ" 3 C.Rs 1340
\QSZ;@ \LI D.Rs 2340

\1\) L o= {&O O E. None of these
fip I=XY%
A b i
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Question 16- A person give 1 article free on the purchase of

A.Rs 6000 every 15 article, he also allow a discount of 4% to customer
B.Rs 5000 and still earn 35% profit. Find the marked price of each if
C.Rs 7000 the cost price of each article 1s Rs 6000.

D.Rs 8000 T 16- Teh Afth Tedeh 15 Sl shl @iia W 1 9% T ol 2,
E. Rs 9000 & UTEeh shi 4% hi B Hi adT & ST THL Ht 35% AT SAfSid

\.\ i Ok FET 1 A S S T 3R T 6000 T <, AT T T
. T Jifehd Ao 1 shitorI)

30

iy
o AN







https://t.me/mathbytarunsirmepl



